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QUESTION 1

Using the "crashed" schedule, if you start Activity 2002 on August 12, 2001, what is the finish date for Activity 2002? 

A. 09-28-01. 

B. 09-08-01. 

C. 09-15-01. 

D. 09-18-01. 

Correct Answer: B 

 

QUESTION 2

Why does activity 1001 have two successor activities? 

A. Because the late finish of 1001 and the late start of 7001 require two successors 

B. Because the problem could not effectively work with only one successor 

C. Because there are two defined logic paths for the work 

D. Because the duration of activities 2001, 2002 and 200.f require two successors 

Correct Answer: C 

 

QUESTION 3

As a change to the network for the current update, activity 6002 is required to begin ten days after the beginning of
activity 6001. Which is the simplest logic organization? 

A. A start-to-start relationship with a ten-day lag assigned to activity 6001; activity 6002 will be dependent on activity
6001 

B. A start-to-start to relationship for both activities 6001 and 6002 with a ten-day lag assigned to activity 6002. 

C. A start-to-finish relationship with both activities 6001 and 6002 having a ten-day lag 

D. A finish-to-start relationship with a ten-day lag assigned to activity 6002; activity 6001 will be dependent on activity
6002 

Correct Answer: D 

 

QUESTION 4

Total float is defined as the amount of time an activity can be delayed without impacting 
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A. The overall project completion 

B. The buoyancy of a successor activity 

C. The next activity 

D. The end of that activity 

Correct Answer: A 

 

QUESTION 5

Assuming a total of 30 lifts per crane per day, what is the maximum number of lifts that could be accomplished using 3
small tower cranes over a 5-day period? 

A. 450 lifts 

B. 300 lifts 

C. 45 lifts 

D. 150 lifts 

Correct Answer: A 
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